EAGRAROBREERT — 2 N— ABISH —F 2020128230 (k) 21EIEM4A

M C2= 5% 3m®L (xwlw | mEmml - |5 @) o s
[A&4£] 1 7% :500,000  ~ 2 3#&:140,000  ~ 33#&:70,000 43#%&:50,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= i 3 | RO 1:33.8 1-1-1-1 | 38.7| — 1 461 | BtEE (FER)
il7l7158+77m-5 54.0 & o |EEEE
RiN=5—y 7T BRYA YT h—> BRT 7 — L
N a a0 .34, 44— . — WEEF (BE)
ol | FLITRRTI— s En S R ° ‘zg? B
o140 B:FLI+ 8IS [ e
o ae ALUEE : —7-7- - EEEE (EE)
3 3| 75V v— i 5 Zu 1.(365>.2 7-7-7-5 | 39.4 6 (zaio) gufg@
L:O—Y XA 214 BHRRT4N—F1 pSae
JINRE— . 55 - chizfE (M)
4 4| F2-LIEE 4 3 e 1(7351:)3 5-5-5-6 | 39.7 2 ;1_563; b
R:AMyagayy B:xa—-ILIF7UZX RN
N . 4 6 | HFFE 1:35.4 8-8-8-8 [39.5| — 4 418 | BER (FEH)
5/5|5|77/1N 1%Ly b 54.0 (1/2) -2) (F) J PN
L:b—trhwlLRYy BI-JC3IFY i Eim
A e 4 3 | TEE 1:35.6 3-3-3-3 |40.2| — 3 500 | SAEUE (k)
6|8|10| 7HYV IR 54.0 1172 Go) | EBER
L:FNTz—"F) B:ILN=71) R [/ ae )
N - B [IH[2:Y PN : -2-2- - FEHE (EM)
27 g | xAF =059k i 3 LI (12316/20> 1-2-2-4 | 40.8 7 (4_012) E_F§
Ly LR BiFa-UI9K €y bXF—TIL
B $ # 7 | HEEK 1:36.1 9-9-9-9 |40.0| — 8 462 | RFIESE (EB)
3 o | NF—FK=1 54.0 (3/4) @) | ) Aoz fX
RIVINATr—hH— BT7R3A¥T1/— $#HE 1ER
e rihEt :36. -10-5— . — N3 (FER)
9 NEESI T EF P o6 LS 1 (346) 8 10-10-5-7 | 40.8 10 5(&3 ;E?EE:L@;
R:FHh¥<v7128 B:H4XF71—-35— NESEE RS
R s 4 | EHEME 1:39.2 6-6-9-10 |43.4| — 9 450 | Bl (EB)
ol o|3-%>Fu—=s 5.0 (el oy | L
R:AYaAzZgr—R B:RF-ITr—I> iRt e
® 1 —F—@EBIERL
13=7r= (7,8),10,1,4,9,3,5,2,6
2d—F— 7,8,10,1,4,9,3,5,2,6
33—+— |7,8,10,1,(4,6),3,5,(2,9)
43—+ — 7,1,10,8,3,4,6,5,2,9
[ N5
B OB 7 2008 | | 714 K 1-7 4001 | | # = 1-7 710M | | 3EHE 1-3-7 2,970M
B B 7 120M 3-7 630 B = 1-7 790M 3EE == 7,140
1 200M 1-3 1,420H B H 7-1 1,070M
3 360M

ARICOVWTRDTEEERROODE. TR LI,



